1 REMEICOT

R ERT & A T SR

F 22 D
ok =

g2 (H25.11.18)

B2

BEREOEFZLEBEICHET IBEEEZICOINT

(1) HEER—X
AT ] A 22 ) R,
A ik — R
B H— b XFIHE A H a0 TR B e = — A
C WV —vEARMHFHNA
D R A -
A E] Rk 2 2 4ERE) Efz
E FHEEHEA [l (CERk 2 24RFE) SEhFid
(2) WA R KL
= (&%) piEAE
HEFER S A K
BT (2 2]
4 \ —
A EEE e o3t Lﬁ'%ﬁ : 4,000 A
EEE 1 sys 700 A [ELEL : 2,541 A
——XRE ’ i B R : 63. 5% A
B 4—p % e 5 Lﬁ%:ﬁz 3,500 A
VGRS €17.600 A % B ;1,825 A
1 B s || mEeE  52.1%
C H—r = #1266 A ot % iiéh“:d%&z: 1,750 A
RFRE A 93,900 A [EIEL - 825 A
_) [ R - 47. 1%
— )
76 Azt A 2 9,250 A
RA~CGE : B : 5,191 A
i AHEFEEERR "
B : 56. 1%
2HEFHY 20,200 A
A% ¢ 3,000 A
D EHEHEWHE 47 1,200 A I ¢ 1,387 A
[EIYER : 46. 2%
PR
1,295 HEH
E F¥EERE 2K 1, 700 FEH B
1,018 HEH
[EIVER : 78.6%




2 =X 5T IL—TTCOREERFEBICONT
10H7H W GG T HEE T — X T T —
mnE — R EE () O
10H8H IR Y — % VT —T
OFEHEPEE (B) Ok
Qi E — AR () Ok
10H9H Bl R R AL E Y — X S T —
ElE - REE (R) oWE
10H31H MHaiEr 7HEY —x 77—
OFEE —HEZE () O
QFEHEWPEE (B) OWmE
11H6H SRR Y — % S T —T
OFEHPEE () Ok
QElE A EZE () Ok

3 MRERRUBREZEEBHICOT
RIE1~5 MW

4 T—XVTITN—TTCWEW-CERELZTORBITDONT
ke M

5 SHODRFTa1—)
251 1H18H k2 5N 2 [almUAN T & e & it SR HEdE ik =
THEEOMEE
12 AHA] 7 — N O S
264 1 H%4 T — NEKT - Hr

3 H Rk 2 5 AREEHS 3 [RURUH T A b R HEE ik
HEFHEROTmY &9



